&F0 645y i = X 15
HXATE 4 : #BET BERSEE
e R ks @ A o w4 [P PEEERTIBEITOGES
3| SN Fo SR BB PN D F2 P L 0k * | ﬂgﬁf@ 6. éfﬁ 5.{;’@ 53 i |
RERLIA o Hitke 30 | 1.1 oo 13 13
f kil - 2TH B 30 | 1.1 Bk
PN Ecein 30 | 1.1 H 8.5 13F 13
Dy HEELET 20 30 | L1 [Eeti=
FERT1~5TH g 30 | L1 ()= - =
FEET Eet: 30 | 1.1 il 5. 3l 5. 3
E db1~1 2% g — | B
t1~124%K Eos — | B
T\ My 1 ~7 TR EREE L OER A 30 | L1 JEELYE  bevE  ELT
LFRLLA o Hie 30 | 1.1 9.5 13 13
M 4 3 B B PN D 2 Y L 3 i 6. 20 5. 3l 5. 3
EFRLIS o M 30 | 11 9.5 13 13
Bigdb1~6 TH E TR — | B
ERLLASS o> HidR 30 | 1.1 b
BiGm 1 ~8TH Al — | B
_ERELIA 0> Hithk 30 | 1.2 ] b vE tevE
U#R1~11TE Exe: 30 1.1 (5= i ok = ki
R e FE AR BT PN D f Y M DX Wi 6.2 Wi 5.3
ERCLLSR oD Hirksg 30 | 1.1 Fro1o 13 13
FET1~3TH 1TE-2TH — | E#R
3TH 30 | 1.1 faki = tti%‘
7zl BET1~3TH ety 30 | 1.1 JEki - i
o o< Lyl ~4THEAERERND — | B
ERLIAN o HilaR 30 1.1 [EEi
2 Ly b - 6 TEAERG 40 | L1 [z
ERCEAS 0> ik 30 | 1.1 [2i=




&F0 645y i = X °H
HXATE 4 : #BET BERSEE
e R ks @ A o w4 [P PEEERTIBEITOGES
<| FA R o | SRR R RR O 20 | 11| e s wd |
7 2 FEL R ik
= 3 4R BT PN oD fi2 P L IR i 6. 200 5. 3 5. 3
ERRLIA o Hithe 30 | L1 F 8o 13 13
(o] SRET g s L TIRESH TV S Hi 30 | 1.1 2k ki
_ERELAS 0 HitR 30 | 1.1 moo13H 13
F| M1 ~5TH il s L CIRE ST Dl 30 | L1 Jagtic W= atic
LFRELS oD sk 30 1.1 oo 13 13
g FRIEHIR & L CIRE ST 2 Hitig 30 | 1.1 e
i TR B P oD = P M X3 fli 6. 24l 5. 3 5. 3
LFRLLS D ek 30 | 1.1 Foou 13 13
| FRET Ecei 30 | 1.1 beiH  EhiE
PEET EctiA 30 | L0
M1l~14%% I REIFHEERRLAL = | B
_ERLISN o> Hi; 30 | 1.1 j2aki = bic
F1l~10%®K J REIMEARLAL — | B
L FRELA o itk 30 I.1
b BaEE Fo S i LIS PN 0 f D 3 U (il 6. 2%t 5. 3ffi 5.3
_ERCEASN 0> itk 30 | 1.1 Hoo1o 13 13
X A o R B IE PN oD o P L IR 5. 2t 6. 20 5. 3fl 5.3
EELIS O Hi; 30 | 1.1 o0 13 13
NSERIYP)S PR & U THE ST D sk 30 | 1.1
EFELIA 0 30 | 1. 1[0 5. 2%l 6.2 5. 3%f 5.3




